APPENDIX A

TELEPHONE  SURVEY  QUESTIONS

Q1. Is this number your home or business number?
1
Home

2
Business

99
Refuse to answer

Q2.  If residential, what is your zip code?

#


88
Refused

99
Don’t Know

Q2A.  If business, how many telephone lines do you have?

#


88
Refused

99
Don’t Know

Q3. Do you think there should be a separate area code for cellular telephones and pagers?

1
Yes

0
No

Q4. Would you object to having a different area codes for additional telephone lines in the same home or business?
1
YES

0
NO

99
Don’t Know

Q5. Would you object to having your cellular telephone or pager in a different area code than your home or business? 

1
YES

0
NO

99
Don’t Know

If the respondent lives is area code 310, go to question 6. If respondent lives in area code 925, go to question 8.

Q6.
Rate the level of inconvenience from having to dial 1 plus the area code plus the telephone number for all calls. 

1
Not inconvenient at all

2
Slightly inconvenient

3
Moderately inconvenient

4
Highly inconvenient

5
Very Highly inconvenient

Q7.
Rate level of cost you incurred as a result of having to dial 1 plus the area code plus the telephone number within your area code. (Costs may arise from reprogramming telephone equipment such as door buzzers or from updating stationary and advertisements.)

1
Not cost at all

2
Slight cost

3
Moderate cost

4
High cost

5
Very High cost







Q8.
How inconvenient did you find it when your area code was changed from 510 to 925?

1
Not inconvenient at all

2
Slightly inconvenient

3
Moderately inconvenient

4
Highly inconvenient

5
Very Highly inconvenient

Q9.
Rate the level of cost you incurred as a result of having your area code changed from 510 to 925? (Costs may arise from reprogramming telephone equipment such as door buzzers or from updating stationary and advertisements.)

1
Not cost at all

2
Slight cost

3
Moderate cost

4
High cost

5
Very High cost

Q10. When a new area code is needed, there are currently two options for creating a new area code: an overlay or a geographic split.

An overlay allows you to keep your existing area code but requires you to use 1 plus the area code plus the telephone number for all calls, including calls within your area code. A geographic split allows you to continue to dial a seven digit telephone number within your area code but which creates a 50% chance that your area code will change.

Would you prefer to have an overlay or a geographic split?

1
Overlay

2
Split

99
Don’t Know
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